MATH 2250 Calculus I Name: /{M

Eric Perkerson Date: September 22, 2015

Practice Quiz No. 4
Show all of your work, label your answers clearly, and do not use a calculator.

Problem 1 Find ttherivativeu of
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Problem 2 Find the derivative of
f(-r) — p2a?+5z

P - j([’lﬁx\\ / s QM: e”

Gl = Dl
> o> 2l lhl - ¢ Lhin) o
e

() e

aleh = e
11()0\ = Yyt

X



Problem A—S Find the derivative of
9(y) = sec(tan(y))
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Problem & Find the derivative of
flm) =
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Problem ﬁ SGiven the equation e** = sin(z + 3y), find '(z).
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Problem ‘ Given the equation 8'/2 + r/2 = 1, find 7'(8).
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Problem @ Given the equation cos(r) + cot(8) = e™, find r'(6).
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